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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 8,004 2) 2,005 3) 3,002 4) 7,005
- 4,599 -1,890 - 2,064 -_1,767 2
3.
4.
5 8,009 6) 9,005 7 9,008 8 7,008 >
- 2,253 -4,036 -3,758 -_4,797 6
7.
8.
9 4,006 100 8,009 11) 7,005 12) 5,001 9.
-1,571 -5,647 -4,827 - 643
- - - - 10.
11.
12.
13) 5,005 14 6,008 15 7,008 16) 4,003 1
-1,669 -3,412 -5,431 -_2,996
14.
15.
16.
17) 5,001 18) 9,006 19) 5,003 20) 8,003 .
- 3,051 -6,393 - 3,089 -_6,406 '
18.
19.
20.
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Subtracting Across Zero

Name: Answer Key

Use subtraction to solve the following problems.

1) 8,004

-4,599

3,405

5 8,009

- 2,253

5,756

9 4,006

-1,571

2,435

13) 5,005

-1,669

3,336

17) 5,001

- 3,051

1,950
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Answers

1 3,405
2,005 3,002 4 7005

-1,890 -2.064 -1,767 , 115
115 938 5,238

3 938

4 5,238

9,005 9,008 8 7,008 > 5,756

-4,036 -3,758 -4,797 s 4,969
4,969 5,250 2 211

7 5,250

8 2211

8,009 7,005 12) 5,001 o. 2435
- 5,647 - 4,827 - 643

2 362 2178 4. 358 w0, 2,362

11 2,178

12 4,358

6,008 7,008 16) 4,003 3 3,336
- 3,412 - 5,431 -2,996

2,596 1,577 1,007 14, 2,996

s 1577

. 1,007

9,006 5,003 20) 8,003 - 1,050
- 6,393 - 3,089 - 6,406

2,613 1,914 1,597 s 2,613

o 1914

.0 1,597
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
2,211 2,178 4,358 5,238
2,362 4,969 938 3,405 L
2,435 5,250 5,756 115 5
3.
1) 8,004 2 2,005 3 3,002
- 4,599 - 1,890 - 2,064 4,
5.
6.
7.
4 7,005 5 8,009 6) 9,005 .
-1,767 - 2,253 - 4,036 '
9.
10.
11.
) 9,008 8 7,008 9 4,006 12.
-3,758 -4,797 -1,571
100 8,009 11) 7,005 12) 5,001
-5,647 -4,827 - 643
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